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Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q1 A B, C & fig 57 vor R & 5 AB = 4 cm, BC = 6 cm 3¥W AC = 10 em #1 g A, B, C
¥ P T T ea i FEdT Fasv|

Ans X1 9
X2 1
vz 0
X3

Question ID : 4244291071
Status : Answered
Chosen Option : 2

Q2 Ffy 29% +37* &r 33 ¥ Renfara g smar ¢, & 97 @ aTem AN Wd
As  of 10

<21

<33

<42

Question ID : 4244291078
Status : Answered
Chosen Option : 1

Q.3 gt F sifea 7w 72,000 ¥, R 58 W FAW 30%, 20% AR 10% Fr ge & Ak ¥ o = G
qET 7T F

Ans o 1 71,008
X 2 71,006
X 3 1,002
X 2 31,004

Question ID : 4244291066
Status : Answered
Chosen Option : 1
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Q.4 fr v IR 7% F, T =7 (total expenditure) 3 F9=r & Heher WIS (gross receipts) (T &I #H)
& gatar ¥ I & arewas w5t AT v v ges o seaw &

14000
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9100
8500

12000 O Gross Receipts DO Total Expenditure
@

e
B
EL 6000 §
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2000
o ! | |

199495 199596 199697 199798  1998-99

g 8000 H]

5000
5500
6600

Year

1994-95 #r ga=T #, 1996-97 # Wehar WA (gross receipts) ¥ Wi Ifa Braar 32
Ans X 1. 42%
< 2 43%
<3 41%
Vi 44%

Question ID : 4244291085
Status : Answered
Chosen Option : 4

QS FRE 1+9r24+81r* =256 3R 1+3r+92=32 & & 1—3r+92 & JF AT FLI
Ans «"14 8

X2 16

<34

<412

Question ID : 4244291077
Status : Answered
Chosen Option : 1

Downl oaded From : http://sscportal .in/

Court esy

SSC


http://sscportal.in/
http://sscportal.in/

Downl oaded From : http://sscportal.in/

Q.6 v v aw TE F, T =7 (total expenditure) 3 F9 & FeRe WIS (gross receipts) (T FHUF #H)
F gtar ¥ IE T Hegaa Fy 3T B v wem & 3eaw 3

14000
12000 O Gross Receipts OTotal Expenditure
10000 2 - H
2 %2 o
b 800 g . ® §
i o000 E H ]
2 q-
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0
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Year

IfE @7 = W WEa (gross receipts) - FW AT (total expenditure) &, &t 1997-98 F wr= @M,
HeheT WIS &1 Thaer 9Taed 87 (GHAd & U T o T&Y)

Ars o1 6.1%
X2 54%
X3 3.9%
X4 48%

Question ID : 4244291084
Status : Answered
Chosen Option: 1

Q7 sfaer 38 & 6 A W W o T Eligar & 3T 3¢ 312 F 10 F T W 9 §1 3@HT Ty
T AT i FAT Fei?

e o1 10% gt
X2 8% gifer
X3 8% wmey
X 4. 10% =T8T

Question ID : 4244291068
Status : Answered
Chosen Option: 1

afE cosec’x —2 =0¢, @r x(0 < x < 90% & HF AT FLI
ans %1 6Q°

< 2 30°

X3 15°

v 4 45°

Question ID : 4244291082
Status : Answered
Chosen Option : 4
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Q9 gfr 0 <8 <90°, 3bcosecd — asecf HT 3asecH— b cosecd — 88, T 9b* +a® F AF 7T Fil

Ans X1 G
v29
X3 8
X7

Question ID : 4244291081
Status : Not Answered
Chosen Option : --

Q.10 ALMN #r sz MN, Rig X o= aeré 1% ¥ Tfy 2LNX=117° 3R sM =2 2L &, & 2L &7 7 719 Y
Ans X1~ 75°

V2 78°

<3 76°

x4 77°

Question ID : 4244291074
Status : Answered
Chosen Option : 2

Q11 5 g 5y e 4 F6 a9 10 27 1300 FA F| 10 9 5 e 4w aor 15 T e
FHATTN?

Ans X 1. 600
V' 2 7900
X 3. ¥650
X 4 800

Question ID : 4244291062
Status : Answered
Chosen Option : 2

" 300+ [G) of (25+35) - 123] T AT AT Y|

Ans x1_ 12
<28
V3 4
<416

Question ID : 4244291079
Status : Answered
Chosen Option : 3
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Q.13 24 Femrsit @ sitwa 26 &1 oger 15 TEmmst #v st 23 ¥ it 3w 8 Tmmmst @ ositww 33 1 164
TEAr AT HY

Ans X118
v 215
X316
X417

Question ID : 4244291065
Status : Answered
Chosen Option : 2

.14
’ ::lﬁ';a+__15§‘?-ﬁ 5T P A AT H
Ans X1 1

v23

<32

X4 4

Question ID : 4244291076
Status : Answered
Chosen Option : 2

015 gfxra+3b =123 ab=9% & (a- 3b) F &AF 7T FI
Ans X1 g

X2 4

<39

vig

Question ID : 4244291075
Status : Answered
Chosen Option : 4

1% sin 60° cos30° — cos60° sin30° =T AT AT F1I

v 2l
X 2

Ans

X 3
r

= olm Ele v

Question ID : 4244291080
Status : Answered
Chosen Option: 1
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Q17 FEeg AXYZ & Fegar L g1 3 XY = 12 cm &, @ XL & &=18 (cm #) &
ans 1 3./3

V2 443

X 3 2@

X 4 53

Question ID : 4244291073
Status : Answered
Chosen Option : 2

Q.18 fiw =1w aw =% &, F= =47 (total expenditure) 3T FT F TR WET (gross receipts) @ FAs )
H AT §1 E Foemaa FY T U AT wea &+ 3ear 4

14000

00

Bl
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12000 OGross Receipts DO Total Expenditure
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g
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g

6100
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6600

5000

Rupeesin creres

Year

20% & a1 AT A & T, 1995-96 H Feher WISTdT (gross receipts) (IS T #) F4T =T =RT,
Tfg Fo =97 (total expenditure) Tger S & @ @7

Ans X 1. 5776

< 2 6445

< 3. 7565

v 4 6875

Question ID : 4244291086
Status : Not Answered
Chosen Option : --

Q.19

ofa:b=3:4% T (7a—4b): (8a+ 4b) FT AT ATTH |
Ans X'1.3:8

vo21;:
<32
<42

w oo 0

Question ID : 4244291069
Status : Answered
Chosen Option : 2
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Ans  X1.%1100
v 2 71000
X 3 7800
X 4 F900

Q.20 et ofdr 9T 8% e T & 4 I Tar 8 I F 9IoT WIUNUT ST F AT T960 ¥ IE TR

Question ID : 4244291070
Status : Answered
Chosen Option : 2

UE T §, A 56 I 70 A S g gl e g2
Ans 1218 km

v 2 216 km

X3 212 km

X 4 214 km

Q.21 #g= 12 kmih, 18 km/h 31T 24 kmih T F T FAS gRE & TW T §) A I s T 13

Question ID : 4244291063
Status : Answered
Chosen Option: 2

ToHT FIT oM 37207 @iy o &2

X 14% %

Ans
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X
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e
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Q22 fah svg 1 TR How, 3EF FU AT F 20% HUF §1 5% Feaw wfne #W Hew W dEr A

Question ID : 4244291067
Status : Answered
Chosen Option : 2
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Q.23 fw 71w 9X I &, T =07 (total expenditure) 3 F9=r & Heher IS (gross receipts) (T &5 #H)
Fr gafar ¥ o # semae FY a B e wew #7 3ew d

14000

12000 0 Gross Receipts DO Total Expenditure
10000

g o
®
2 §
§
4000
2000
4] + + - .

199495 199506 159697 199798 199899

r
6100
7200
2100
8500

5500

5000

Year

FIT 1 1998-99 H T T (total expenditure), 3 1994-95 F IT ol =AY W T A g
Fwrs H)?

Ans  of 1. 3700
X 2. 4800
X 3 5500
X 43800

Question ID : 4244291083
Status : Answered
Chosen Option : 1

Q24 v warEges #r semst & 9 @ AT 900 m? ¥| WHASGHS B oS H wwrS FT L2
Ans X117 m

V215 m

K314 m

X416 m

Question ID : 4244291064
Status : Answered
Chosen Option : 2

Q.25 The diameter of a wheel is 49 cm. The number of revolutions in which it will have to cover a distance of 770 m, is:

Ans  of 1. 500
< 2. 600
< 3700
< 4400

Question ID : 4244291072
Status : Answered
Chosen Option : 1
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